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® FHUIT ST Y of fob 38 W9 H Al g6 1 3 AT
T 34 ¢ |

® Please make sure that the printed pages in this
guestion paper are 1 3 in number and it contains 34
guestions.

® UA-UF & Gl AN U AT #z dax A BT dNT k-
JRedeT & Ugel J56 W for@r S =g |

® The code No. on the right side of the question paper

should be written by the candidate on the front page
of the answer-book.

® fHEY ¥osT FT e ST YE A F Ygd IR FHATD
fergar g |




® Before beginning to answer a question, its Serial
Number must be written.

® 3G e YiEcerl H Wrell I5/ 53 o OIS |

® Don’t leave blank page/pages in your answer-book.

® 3cR-gidet & JfaRed #Is 3= efe =gl & Sah |
3 IMAIHATIR 8 fold 7 forer 3ca’ o Fic |

® Except answer-book, no extra sheet will be given.Write

to the point and do not strike the written answer.

o TdaTAT HYAT Vol AT Y2A-97 WX 31aey ford |

® Candidates must write their Roll Number on the
guestion paper.

® FHYAT YA HT 3ccR ool F Ugel T§ FARdd X o foh
9RA-UF YUT § HWEl g, 98T & 3IWid 56 §a¢ H His o
aTar TR sTgr fehar e |

® Before answering the questions,ensure that you have

been supplied the correct and complete question
paper,no claim in this regard,will be entertained after
examination.

A fader:

(i) Tt weaT 3rfeard § |

(ii) 39 9797 & 34 weT § ;o 6 gk @ust : 3197 3k ¢

H e 9w g

GUs ‘W ST WUS H 16 WA g | TAh A 1 37 &I ¢ |

gus ‘T FH WGUS H 17 § 22 dh Fel 6 I & | IAh YA
2 37 FT g |



gus ‘W:3H WUS H 23 § 30 dh Fel 8 YA & | A+
U2l 4 3iehl &l g |

gus ‘T : 30 YUS H 31 W 34 dh FT 4 WA § | TAh
U2l 5 3iehl &l & |

(iii) @Us T & 2 gl H 3HTaRe fdweq fGr av § 307 @
Teh & I I oAl

General Instructions :
(i) All questions are compulsory.

(i) This question paper consists of 34 questions which
are divided into four sections : A,B,C and D :
Section ‘A’ : This Section consists of 16 questions from

1 to 16. Each part carries 1 mark.

Section ‘B’: This Section consists of 6 questions from

17 to 22. Each question carries 2 marks.

Section ‘C’: This Section consists of 8 questions from 23

to 30. Each question carries 4 marks.

Section ‘D’: This Section consists of four questions from

31 to 34. Each question carries 5 marks.

(iii) Section ‘D’ contains 2 questions where internal
choice have been provided. Choose one of them.



Yus-31

SECTION-A
1. 12 ,15 3Rk 21 &1 L.C.M. &: 1
(A) 410 (B) 420 (C) 460 (D) 480
L.C.M of 12,15and 21 is:
(A) 410 (B) 420 (C) 460 (D) 480

2. o.125ﬁ§awq:ﬁrcqcm Hifae,s1gr p 3R q 39w H

g 37T ¢ | 1

Express 0.125 in the form of g, where p and q are co-prime.

3.aﬁa§ﬂa$%ﬁaﬁwwwwﬂar: 6 3T
-8 g a1 9% §gUS & 1
(A) x*+6x-8 (B) x°+6x+8 (C) x*-6x-8 (D) x*+14x-48

If sum and product of zeroes of a polynomial are -6 and -8
respectively, then the polynomial is:

(A) xX°+6x-8 (B) x°+6x+8 (C) x*-6x-8 (D) x*+14x-48

4. SfaETd FHEIOT x*-x-12=0 & H 8 : 1
(A) 31_4 (B) _41_3 (C) 41_3 (D) 3;4
The roots of the quadratic equation x*-x-12=0 are:

(A) 3,4 (B) -4,-3 (C) 4,-3 (D) 3,4



5@ HHIFIUN 3x+5y=7 and 9x-10y=14 I JIH Had & AT
Ead § ? 1

The pair of linear equations 3x+5y=7 and 9x-10y=14 is consistent or
inconsistent.

6. A.P.-37,-33,-29,..cocvrerern.. & 12 Yel T T § 1
(A) -130 (B) -180 (C) -230 (D)-240

The sum of 12terms of A.P. -37, -33, -29,.....c...cu....... is:

(A) -130 (B) -180 (C) -230 (D) -240
7.A.P.-15-11, -7, 3.o......... HT T IR AT AT | 1

Find the common difference of A.P. -15,-11, -7, -3...cccevvvuneennn..

8. gcd YT WA TUY IWT & 39T(Ass foig A ..............
Fed ¢ | 1

The common point of a tangent to a circle and the circle is
(or || [=To

9.af& AABC IUT ADEF THEY g 3R A% &9kl shaem:121

T2 gur 169 .#AL.2 ¢ | afg EF =1.3 9.A. & ar BC &
AT g 1

A) 11cm (B) 13cm (C) 1.1cm (D) 1.3cm



If AABC and ADEF are similar and their areas are 121 cm” and169
cm’ respectively. If EF= 1.3 cm then side BC is:

A) 11cm (B) 13cm (C) 1.1cm (D) 1.3cm

10.97¢ AABC H AB=6v3 cm,AC=12cm 3R BC=6cm &, ar
$IUT B § 1
(A) 120° (B) 60° (C) 90° (D) 45°

Ifin AABC , AB=6+/3cm, AC=12cm and BC=6cm then angle B is:

(A) 120° (B) 60° (C) 90° (D) 45°

11.Fce B s AR TqL @0 g Fhell &1 1
Acircle have.....ccoeeeveveiiiiiiicieenee, parallel tangents at the most.
12.f97g31t (a,b) iR (-a,-b) & & T ¥ AT HFIT | 1

Find the distance between points (a,b) and (-a,-b).

13.38 fag & fAdens ot foegait (-1,7) 3R (5,-2) @ fAem=
qTel YWT-Q@Ug HI 1:2 & HeJard H fqfsid I g | 1
(A) 1:4 (B) 4:1 (C) 2:1 (D) 2:3

The co-ordinates of the point which divides the join of points (-1,7)
and (5,-2) in ratio 1:2 is:

(A) 1:4 (B) 4:1 (C) 2:1 (D) 2:3



14. sin38°c0s52°+ c0s38° sin52° &l AT & : 1

The value of sin38°c0s52°+ cos38° sin52° is:

15.59178 TS@ehT oFas ,diss 3R 3a15 HaAn14T.,10 .
R 5 A & & AT g 1
(A) 600m>  (B) 800m° (C) 700m? (D) 730m°

Volume of the cuboid whose length, breadth and height are
14m,10m and 5m respectively is:

(A) 600m>  (B) 800m’ (C) 700m* (D) 730m°

16. 6 cm 3T dTel ged & Foa@s H1 &7, fager HIoT
60° §, B9 : 1
(A) 20.85cm”*  (B) 19.97cm”®  (C) 15.80cm”® (D) 18.85cm’

Area of a sector of a circle with radius 6cm if angle of the sector is
60° will be:

(A) 20.85cm”®  (B) 19.97cm”®  (C) 15.80cm”® (D) 18.85cm’

Yus-d
SECTION-B

17. 28U f&F 5-3vV2 Us 39RAT &7 ¢ | 2

Show that 5-3v2 is an irrational number.



18. SgUG 2x%+3x+1 A x+2 T AT ST | AT 3R
AR AT HITAT | 2

Divide the polynomial 2x*+3x+1 by x+2. Find the quotient and
remainder.

19. Ueh IRIATHR €191, SqdT oFas 9igs @ 4 A 3%« ¢,
T IIIRATT 36 H. § | §07 &7 fq\AT A9 HifSw | 2

Semi perimeter of a rectangular garden, whose length is 4m more
than its width is 36m. Find the dimensions of the garden.

20. K& g AT & foU cfaard FHitor  x*+Kx+6 & He
ST gler | 2

For which values of K the quadratic equation x“+Kx+6 has two equal
roots?

21. &g AT & el ged & =ar g & R | G a1
9L WU JATAR ghar ¢ | 2

Prove that the tangents drawn at the ends of a diameter of a circle
are parallel.



2. T T H3 A, 5 Fel dAT 4 g0 g s YT H A
T Jg Ieeadr [Adell ST § | 3T &1 Wi¥shar & f& 3
(i) ool & (ii) hrelr &l | 2
A bag contains 3 red, 5 black and 4 green balls. A ball is drawn at

random from the bag. What is the probability that the ball drawn is
(i) red ? (ii) black ?

Yus-H
SECTION-C

23. @I 37l T HEIT o i T 9T 9 § | 39 J&IT &T Al
AT , AT & 3Pl I Tolead § oell T&IT HT & AT ¢ | 98
J&IT AT FIfaT | 4

The sum of the digits of a two-digit number is 9. Also nine times this
number is twice the number obtained by reversing the order of the
digits. Find the number.

24. 2 gait & &l T AET 468 AL 2 & | afg 3% gAY
T e 24 #Y. & ,aF <l gail &I T AT Hifde | 4

Sum of areas of two squares is 468m°. If the difference of their
perimeters is 24m. Find the sides of the two squares.

25. A.P. 3,15,27,39........... HT il TT UG 38 54 d U¢ &
132 318 g1 ? 4

Which term of A.P. 3,15,27,39........... will be 132 more than its 54"
term?



26. ¢ & AT TSl & &7ahel SN &1 dl g Hfav &
d gareEA gid g | 4

If areas of two similar triangles are equal, then prove that they are
congruent.

27. A0St (0,-1), (2,1) 3R (0,3) aTel f3¥LST T HoM3T & ALY

f9ee3il & SeTal arel 39T T &awhel AT FST | 38 &Thel
1 QU gU ST & &7l & T A AT HifSw | 4
Find the area of the triangle formed by joining the mid-points of the

sides of the triangle whose vertices are (0,-1), (2,1) and (0,3). Find
the ratio of this area to the area of the given triangle.

28. I tanA = cotB, dl T&g AT T A+B=90°. 4

If tanA = cotB, then prove that A+B=90°.

29. TR R & TAF Ifgd 1 I 80 T.A. & | I Ig
R 66 km 9fa ¢ &1 I1ar & I Wl g, af 10 BAae H
gcdeh 9fgdr fohdel o ofdldar g ? 4

The wheels of a car are of diameter 80cm each. How many complete
revolutions does each wheel make in 10 minutes when the car is
travelling at a speed of 66 km per hour?

10



30.20 Fodl & Ueh WA H 4 Tod TG § | SH WAg & A
Ush Jod ITecodT Todoel ATl & | SHHT T Iiidehdr §
(i) I8 Jod WIS ¢ ? (i) I§ Tod T 6T g ? 4

30. A lot of 20 bulbs contain 4 defective ones. One bulb is drawn at
random from the lot. What is the probability that (i) this bulb is
defective ? (ii) this bulb is not defective ?

YUs-q
SECTION-D

31. {7 & U+ foig @ U 20 Al 3 o & e W o9l

Teh HIR HAR & del 3R fAET & IooTdel HIUT HAA:  45°
3600 § | HAR Fr F=ms AT HifSw | 5
From a point on the ground, the angles of elevation of the bottom

and top of a transmission tower fixed at the top of a 20m high
building are 45° and 60° respectively. Find the height of the tower.

3gdar
OR

A hITAAT: (sinA + cosecA)’ + (cosA + secA)’ = 7+ tan’A + cot’A

Prove that:  (sinA + cosecA)” + (cosA + secA)” = 7+ tan’A + cot’A

32.5 @A 34T & U ged W WA & TG @ FifA,
ST TRER 60° & HIUT T SHT 8T | 5

Draw a pair of tangents to a circle of radius 5cm which are inclined
to each other at an angle of 60°.
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33. AT @a ded Uah Alged & STl & e g T &l
SRMTaT Bl AT Sl T Rs.18 8l oo SRERAT f #ATd Sifaivl 5

AGED 11-13 [13-15 [15-17 |17-19 |19-21 [21-23 [23-25

JaEY
(3.7 )

g=ar &1 |/ 6 9 13 f 5 4
&

The following distribution shows the daily pocket allowance of
children of a locality. The mean pocket allowance is Rs. 18. Find the
missing frequency f.

Daily 11-13 | 13-15 |15-17 |17-19 |19-21 |21-23 | 23-25
Pocket
Allowance
(in Rs.)
Number 7 6 9 13 f 5 4
of children

34, 3918 2.4 T 3R @@ 1.4 . .are T 39 ST H
g iy 3915 3R =8 SOy T U USareR @il e forr
ST & | QY & 31 &7 fdehedd aaf A.A.THh g8 aiFthel
AT HITAT | 5

From a solid cylinder whose height is 2.4cm and diameter 1.4cm, a
conical cavity of the same height and same diameter is hollowed out.
Find the total surface area of the remaining solid to the nearest cm’.

12




3ar
OR

HAT: 6 A, 8 W3R 10 F.3. Bt awr ag &
dlel oI el I AR Teh 8T el dATIT 1T & | 39
Mol T BT AT HIfAT | 5

Metallic spheres of radii 6cm, 8cm and 10cm respectively are melted
to form a single solid sphere. Find the radius of the resulting sphere.
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